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CODE : 2510

CLASS-X

MATHS (SECTION-A)

. , . 243 243 .
Decimal expansion of rational number =———=—— = URHY ] Bl S YR ¢ -
2°x3’ x5 2°x3°x5
(1) Terminating (1) |ra
(2) Non-Terminating (2) 3raTd
(3) Non-Terminating & Repeating OENGEIES]
(4) Non-Terminating and non-Repeating OV ESIGEEIERI
If /74443 isequalsto \/a +b then(a-b)is: R 7143 PIRR JH44b &AM (@-b)’2:
(1) 4 (2) 9 (M4 )9
(3)1 o @)1 4)0

X y
If x =243 and xy =1then \5+\&+\5—&

is equals to :

M 3 2 2443
®) V2 @ 3-\2
Find the remainder when x* - x2 - 2 is divided by
X+1
(1) -2 (2) -4
3)0 4)3
If oo and B are the zeroes of the polynomial
|32
x? + 2x + 3 then find B
B a
13 3
Ul @ 3%
10 10
3) — 4) —
@) @) 3

X y
=2+43 Hgﬂxy=1fﬁ \E+&+\E—\E
SRTER BT
M 3 2 V2+43

@) V2 4 3-42
AYB SITd PITY, 59 X - x% - 2 Dl x + 13 fa9rford
T SaT 2 |

(1 -2 (2) -4
3o (4)3
& o 3R B IUT X2 + 2x + 3 D YRD © Al
2
F"‘B— 1A DI |
13 3
Uy @ %%
10 10
@) 3 4) 3

V% B P [o17 O /" Space for Rough Work
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If the polynomial P(x) = 2x* + x> - 5x* = x + 1is
divided by the polynomial Q(x) = x> - x then the
remainder is R(x) = ax? + bx + ¢. Then a* + b? + ¢?
equals to
(ms 29
(3)12 (4)10
If the lines given by 3x + 2ky =2 and 2x + 5y +1=0
are intersecting, then the value of k cannot be
equals to:

15 4
Uk @5
15 7
® @

If the value of x which satisfying the linear

equations 3y — /2y = /3 and \/sx + 3y = /2 is

a(\/2a—b) then find the value of a - b.

(18 (2)2

(3)3 (4) 5

Find the Area of the triangle bounded by the lines
-y+1=0,3x+2y-12=0andy=0.

(1) 15 2) 7.5

(3) 30 (4) 45

CLASS-X

CODE : 2510

17 November, 2024

If 9gug P(x) = 2x* + x* - 5¢* - x + 1 P! TgUS
Q(x) = x* - x & fawrfya fear SIg @1 Auwd
R(x) =ax’+bx +c2|dda’+b?+? & RS ERT

(18 2) 9

(3) 12 (4)10

Ife 3x + 2ky = 2 3R 2x + 5y + 1= 0 §RI &I 7T ¥@TY
gfesT &R I8! &, A k @1 99 fhas _1eR T8 8
el B :

15 4
UR= @5
15 7
@ @

ARXBIA, f3x — 2y = /3 T {J5x 43y =2
Bl A BT €, a((2a—b) & |6l a - b oI HH 9T
BT -

(18 (2) 2

)3 (4) 5
WERITX-y+1=0,3x+2y-12=03Ry=0FftR
<t &1 &F%a F1d DIy |

(M 15 (2) 7.5

(3) 30 (4) 45

V% Brd & o1y OiTE /" Space for Rough Work

2 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CLASS-X
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10. (x*-1)*+(x*+1)?=2has 10.

.

2.

13.

CODE : 2510

(1) Four real roots

(2) Two real roots

(3) No real roots

(4) One real root

If the quadratic equation

(¢ =m)x*+(m-n)x+(n- ¢)=0have equal roots
then :

Mm+n=1 @Qm+n=2¢

f,"
B)m+n=3¢ (4)m+n=§

If the sum of the squares of three consecutive even
natural numbers is 200. Then find the product of
numbers.

(1) 360 (2) 480

(3) 960 (4) 192

An industry produces a certain number of articles
in a day. It was observed on a particular day that
the cost of production of each article (in rupees)
was 5 more than thrice the number of articles
produced on that day. If the total cost of
production on that day was Rs. 182. Find the cost
of each article.

1) 7 (2) 26

(3) 33 (4) 182

.

2.

13.

_L
02 =12+ (X + 1) =23Ed &
(1) IR IS A
(2) <1 ar<Ifd® g
(3) ®IE AKAAD A I
(4) TP arifde qel
afe feama THiexo
(r =m)x’+(M-n)x+(n-¢)=0DTAGAFE, I
.(1)m+n=rf Q)m+n=2y
B3)Ym+n=3¢ (4)m+n:%

gfe 19 HEII FH UTHd G181 D g D1 A
200 B | G AE&1371 BT O S1d BifoTy |

(1) 360 (2) 480

(3) 960 (4) 192

U IEN o o § o Mfded @ § awgsii &
e BT € | U faRiy e 7 < 1 & e
IR D ITEH ART (T H) I e Icunfad awaii
AR B A A1 5 3110 off | I 99 e Saures
D1 el AN 182 HUY B | GAD a% Dl Hed 3
HIFTY |

(1) 7
(3) 33

(2) 26
(4) 182

Y% BT @ 179 S8/ Space for Rough Work
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14. Ifa,Baretheroots of 3x2+5x -2=0thenfindthe | 14. afX 0, B, 3x% + 5x - 2 =0 B H & A1 I8 FHIBHRYT ST
equation whose roots are OH% and B+& HITTY =TS o a+é3ﬁ‘\’ﬁ+&§l
(1) 6x2-5x+1=0 (2)6x°2+5x+1=0 (1) 6x*-5x+1=0 (2)6x*+5x+1=0
3)6x2-5x-1=0 (4)6x2+5x-1=0 (3)6x*-5x-1=0 (4)6x>+5x-1=0
15. Let S be the sum of the first n terms of an | 15. HMI S, WA 41 & Ugel n U&l &I I ¢ | If
arithematic progression. If S, =3 S_, then the S,
S S =35y, T ¢ A
Z4n . 2n
value of g Is:
2n
(1) 4 26 (14 (2) 6
(3) 8 (4)2 ()8 (4) 2
16.  If the first terms of an AP is 3 and the sum of its | 16. IS fa=il AP &1 UgalT Ug 3 2 3R SHS Ugdl 25 U] &l

first 25 terms is equal to the sum of its next 15
terms, then the common difference of this AP is:

(6, Qg

1
Ul @

® 5 @

I 59D 3T 15 TSI B A D IRI6ER 8, A 59 AP &I
AR 2 :

(6 QY

1
0= @

NS

@ 5 @

YE Pref B [ory oiTE /" Space for Rough Work

4 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CODE : 2510

17 November, 2024

17.

18.

1.

Let S, be the sum of first 2n terms of an arithematic
progression. Let S, be the sum of first 4n terms of
the same arithematic progression. If (S, - S,) is 1000,
then the sum of the first 6n terms of the
arthematic progression is equal to

(1) 3000 (2) 7000

(3) 5000 (4) 1000

Which of the following is true ?

(1) Two intersecting lines are always perpendicular
(2) Two parallel lines never intersect

(3) Two parallel lines intersects at one point

(4) Two perpendicular lines never intersects

In the figure, XY||PQ, ZXYO =60°and ~/PQO = 80°
then find the value of Q.

Y Q
60°\,0  80°
Q
X P
(1) 220° (2) 230°
(3) 130° (4) 120°

CLASS-X

17.

18.

19.

T S, W%ﬁuﬁznqﬁwm%‘lﬂﬁ
Wszeﬁw%%uﬁémwzﬁrﬁﬂ%l
af (S, - S,;) 1000 2, T1 FHIR 1G] & Ugel 6n UGl Bl
T SRR & —

(1) 3000 (2) 7000

(3) 5000 (4) 1000
fr=foRaa # 9 - A 8 ?

(1) & gfereedl YW@V ed J9dd 8l ¢ |

(2) 31 MR @Y G+ Uies a1 dxal ¢ |

(3) I HHIGR Y@ Ta g IR ufoesq aell € |

(4) T F9Td X@Y HHT A1 Ufress el dRal ¢ |
fera #, XY||PQ, £XYO = 60° d2nm ~PQO = 80° @1 Q
&1 A §1d DI |

Y Q
60°\0 " 80°
Q
X P
(1) 220° (2) 230°
(3) 130° (4) 120°

Y% P12 P [o77 S8/ Space for Rough Work
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20. In the figure AB||QM, AM||QR, ZBAC = 60°, | 20. fa= # AB||QM, AM||QR, ZBAC = 60°, ZACB = 50°

ZACB=50° If ZQRH = x°, then find the value of x. 2 13fd ZQRH = x° &, A1 x &1 #F S1d BIFTY |

A A
Q Q
P/\\ N P/\ S
B C\/ R H B C\/ R —>H
M M

(1) 140° (2) o° (1) 140° (2) 110°

(3) 130° (4) 100° (3) 130° (4) 100°
21.  Inthe adjoining figure AD=BD = AC, ZCAE=70° | 2. &&= fam § AD = BD = AC, ZCAE = 70° 3fiR

and ZACD = x°. Then the value of x is : ZACD=xCE | dAIXBIHHE :

E E
A0 70° 2700
=] Xo 'l XO '
(1) 30 (2) 50 (M 30 (2) 50
(3) 60 (4) 40 (3) 60 (4) 40

Y% P1ef B [o77 5778/ Space for Rough Work
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CODE : 2510
22. In the figure given below, equilateral triangle
surmounts square. Find the angle represented by 6.
T
S R
O
P Q
(1) 20° (2) 30°
(3) 40° (4) 15°
23. A man travels on a bicycle, 10 km east from the

starting point A to reach point B, then he cycles
15 km south to reach point C. Find the shortest
distance between A and C.

(1) 25 km (2) 5 km
(3) 25v13km (4) 5/13km

CLASS-X

CLC
\tecnd=

Tatert Bxplering ELE Mosicnal Blympiod-2025

22 e feg g e, W@%ﬂmaﬁfﬁwﬁlem

23,

ST A BT BT ST DI |
T
S R
0
P Q
(1) 20° (2) 30°
(3) 40° (4) 15°

g @fad g B I uged @ forg uRfaes fig A 9
10 km gd @1 3R ATgfdhal | A Bvar g, e 92 fdg)
C T yga & o1y 15 km ST o1 TR ATgfehet 2refra
2| AR C & &I &) =Iad g A1d DI |

(1) 25 km 2) 5 km
3) 25v13km 4) 5J13km

Y% P12 P [o77 S8/ Space for Rough Work
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24.

25.
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In the figure, ABCD is a square and AOD is
equilateral triangle. Find the value of 6.

A D
0
L9 C
(1) 30° (2) 45°
(3) 60° (4) 75°

In the figure given below, ABC is an equilateral
triangle and PQRS is a square of side 8cm. By how
many cm? is the area of the triangle more than

CLASS-X

25.

CODE : 2510
24. =¥ ABCD U@ & 2 3iIR AOD SHdTg FBrwi & | 0

AT ST DI |

A D

0

BlL_© C
(1) 30° (2) 45°
(3) 60° (4) 75°

A1 faq ¢ 31 5, ABC Us 9HaTg 31 & 3R PQRS,
8cm ST ATell Uah a1 & | B &1 e e 991 & eTath
9 faras cm? 31fdr 2 2

that of the area of square ?

A A
oo p/\ o
B S R C B 3 R C
12 13 12 13
05 @5 075 @5
m 10 m 10
(3) N (4) 5 ©) 5 (4) NG
Y& Pref B o1y STE /" Space for Rough Work
8
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MAT (SECTION-B)

CODE : 2510

26. The following words are arranged in a logical and
meaningful order -
A.lIrrigation B. Agricultural land
C.Cropirrigation  D. Seed
1B, D, A, C (2)A,B,D, C
(3)C,B,D, A (4)D,B,C A

27. The following words are arranged in a logical and
meaningful order -
A. Byte B. Megabyte
C.Terabyte D. Gigabyte
E. Kilobyte
(1 C A B,D,E (2) A, E,D,B,C
3)A,E B,D,C (4) A E B CD

28. Inarow A is 15th from the left and B is 7th from
the right. There are three persons between them
and C is to the immediate left of A. What is the
position of C from the right ?
(1) 11th (2) 9th
(3) 10th (4) 12th

29. Inaclass of 48 students, Anuj ranks 19th from the

top and Jeevan ranks 12th from the bottom. How
many students are there between Anujand Jeevan
?

(117
(3) 18

(2)16
(4) None of these

26.

27.

28,

29.

o erea] 1 Arfdhep 3R F1eid HH | afkerd 8 —

A. R B. 3% 4
C. B Riars D. &I

(1B, D, A, C (2) A,B,D, C
(3)C, B, D, A (4)D,B,C, A

for= 9Tsa] 1 aTfhep 31 Frefe oH # aflerd g —

A. 93T B. HIETST
C. 41T D. TTErSe
E. fhairarse

(W C A, B,D,E (2) A, E,D,B,C
(3)AE B,D,C (4)AEB,CD

foreft ufed & A 910 9 150 W9 R IR B aW 9 79
WM IR |57 o § d1F Afdd & 3R C, A B S
1S 3N 2 | 918 fb C H1 W A PIH—AT WIH & ?

(1) naf (2) 9df

(3) 104t (4) 12dt

48 BTAT B Yeh BTl H ol BT HUR H 1931 W 8
TJIT ST T Il ¥ 1231 eI 2 | 37951 31 Sia &
daH fra B 8 ?

() 17
3)18

(2) 16
(4) 37 | DS T

Y% P12 P [o77 S8/ Space for Rough Work
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30.

31

32

33.
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Eight boys, P, Q, R, S, T, U, V and W are sitting
around acircular table. P and Q are sitting opposite
to each other. S sits second to the right of Pand V
sits second to the right of Q. T and W are sitting
opposite to each other. R sits between P and V.
How many boys sit between U and V, when
counted from the right of U ?

(1) Five (2) Two

(3) Three (4) Four

Select the option that is related to the third
letter- cluster in the same way as the second
letter-cluster is related to the first letter-cluster.
POSTED : TPQEFU : : COUNTS : ?

(1) VPETVO (2) VPTDOW

(3) UQDTUO (4) VPDTUO

Select the option that is related to the third
number in the same way as the second number is
related to the first number.

27:702::12:7
(1) 402 (2) 103
(3) 341 (4)132

This year we will celebrate Independence Day on
Sunday, if Diwali is on 31st October then on which
day will we celebrate Diwali ?

(1) Friday (2) Sunday

(3) Monday (4) Tuesday

CLASS-X

30.

31

32

33

CODE : 2510
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M ASH P, Q,R, S, T, U, VIR W TH MATHR Al &
ARITRG IS T |IPARQUA TR B AFAISE | S, P
@ T W TR WM W ISI 23RV, Q @ a1 I g
WAWRISE | TIRW UH TER S AHT 43 & |R, P
IRV H 912 |U IRV @ 91 fvaw ds® 93
g, 99U D eEMRA R Srare ?

(1) dt= ) a1

@) o (4) TR

I fAdhed @1 TI9 T 1 AR JeR—FE 9 34l
UHR A Fd 2 5T YR A ORI 3IeR—THE Ugdl
JeR—FE | HT 2 |

POSTED : TPQEFU : : COUNTS : ?

(1) VPETVO (2) VPTDOW

(3) UQDTUO (4) VPDTUO

I Ao &1 o & Sl ) d&1 9 Sl 391
UHR A FIOd & o TR A SA G Ugall Gl
e 2 |

27:702::12:7

(1) 402 (2) 103

(3) 341 (4)132

59 T4 T feasd g9 JfAaR & 9979, afe feuraeh
31 3acaR @l & al faurget fars fam A= 2

(1) gHaR (2) 3faaw

(3) AR (4) HITAR

Y% B @ o1y S8/ Space for Rough Work
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34.

35.

36.

Study the given matrix carefully and select the
number from among the given options that can
replace the question mark (?) in it.

9 7 9
5 4 7
43 26 ?
(1) 48 () 61
(3) 35 (4) 29

Study the given matrix carefully and select the
number from among the given options that can
replace the question mark (?) in it.

22 32 7
18 24 5
32 40 ?
(14 (2) 8
(3) 12 (4) 10

In the questions given below, first there is a
statement followed by assumptions, you have to
decide which of the assumptions underlying the
statement is given after considering the given
statement and the assumptions given below it.
Is?
Statement : Despite the end of the
monsoon, there was not
enough rainfall.
The arrival of monsoon is
the reason for the rain.

Il. It does not rain in other

seasons.

(1) Only assumptions | is implicit
(2) Only assumption Il is implicit
(3) Either assumption | or Il is implicit

Assumption: |

(4) Neither assumption | nor Il is implicit

CLASS-X

34.

35.

36.

faq My #fge &1 eamgd® &wuﬂaﬁsﬁ?ﬁnw
famedl § W 99 T BT I3 B Sl S9H U g

(?) @I ufaxenfid &% 3 |
9 7 9
5 4
43 26 ?
(1) 48 (2) 61
(3) 35 (4) 29

faq U Afgaa &1 ayds sreaad N 3R Ay Y
famedl § W 99 T BT I3 B Sl S9H U g

(?) @I ufaxenfid &% 3 |
22 32 7
18 24
32 40 ?
) 4 2)8
(3) 12 (4) 10

A 3T Y ged | U Us B © R IS A
QAR €, e faY 1Y HeA SR 9 -1 &1 T8
AR UR fAgR R & 918 79 HRAT & b DIl
QRN HAF H fied © ?

A : HAAY A 814 D 19

i auf =TEl g |

|. AT BT 3T G BT BRI
g |

II. 9T GO HIAH # & el
g

(1) DI gdaRoT | IrfiRd 8

(2) HI QAR || <R &

(3) 1 A gderRoT | 3rera || arafifRd &

(4) 1 @1 gdarRoT | 3R 7 8 1| IrfifEd &

qdarony :

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 (m 2
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In the questions given below, first there is a
statement followed by assumptions, you have to
decide which of the assumptions underlying the
statement is given after considering the given
statement and the assumptions given below it.
Is?
Statement: Many institutions have adopted
online mode of examination.
Assumption: |. Candidatesfrom all parts of the

country are able to take the
test on computer.

IIl. Online mode of examinations
helps in recruiting more
qualified people.

1) Only assumptions | is implicit
2) Only assumption Il is implicit
3) Either assumption | or Il is implicit

4) Both assumptions | and Il are implicit
What is the degree of angle between the hour
and minute hands of aclock at2:30°?

(1) 145° (2) 105°
(3) 90° (4) 120°

(
(
(
(4

CLASS-X

37.

38.

CODE : 2510
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A 3T Y ged | U Us B © R IS A
QAR €, e faY 1Y HeA SR 9 -1 &1 T8
AR UR fAgR R & 918 79 HRAT & b DIl
QRN HAF H fied © ?

EOEE TEa—UT HRAT3] = NI &1 JATeATs
Jgfd AT ol 8 |
. 231 @ gt 9 B SFHIgIN

FFIYER UR YRIEN I H e T |

JELRONY :

II. TRIET B SAATSH UFid A 3D

A AT DY Wil B H TSI
e 2 |

(1) B QIR | ST

(2) DIt YR || S=fifed &

(3) 1 1 QAR | 31eraT |l Jrfifad 2

(4) gdaRoMY | 3R 1| ST rafifed &

2 guia 30 e W Bl @ °9¢ 9 e @) ggai &

411 fopaeT 3197 T BIT I & ?
(1) 145° (2) 105°
(3) 90° (4) 120°

YE Pref B [ory oiTE /" Space for Rough Work
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39.

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements are true even if they seem to be
at variance from commonly known facts, decide
which of the given conclusions logically follow(s)
from the given statements.

Statement : No butter is jam.
Banana is butter.
Conclusion : |. Bananaisnotjam.

Il. Banana may or may not be jam.
(1) Only conclusion | follows
(2) Only conclusion Il follows
(3) Both conclusion | and Il follow
(4) Neither conclusion I nor Il follow
Read the given statements and conclusions
carefully. Assuming that the information given in
the statements are true even if they seem to be
at variance from commonly known facts, decide
which of the given conclusions logically follow(s)
from the given statements.

Statement: Some balls are spoons.
All stones are balls.
No ball is a pebble.

Conclusion: | Some balls are stones.

Il. Nospoonisastone.
Ill. No stone is pebble.
(1) Both conclusions Il and Il follows
(2) Only conclusion Il follows
(3) Both conclusions | and Il follows
(4) Both conclusions | and Il follows

CLASS-X

39.

40.

ﬁqwfﬁaﬂisﬁ?ﬁmﬁqﬁaﬁmqﬁm—gw
g T @werAl 7 €178 SFaR 9 8, 9ol €1 I8 AT
HU A 1 q21 A =1 w2l 8 ag o & fag g
eyl § & B ey UET o1 difes w9 |

3RO/ YT B ¢ |

PAT: P W ARG JH TS 2 |
DAl TRIT & |
BRI : |, Dol 9T &2 |
II. AT o B ¥ Fhel & AT I ST ABAT B |

(1) DIt FshY | SRR Bl ©

(2) dat =R 11 SITERTT Bl &

(3) forsm | 31 11 SR v &

(4) e | 9 21 11 SrgERoT el ©

f&g 7Y poml 3R frenst @1 erHyds ue | 97 A
g o oAl # €1 718 IHeR 9 B, ol €1 98 Amr
FU 1T a2a] A A= i 2 8@ a1 Ry Iy
frremref § @ dIF ey B &1 difes w9 A

TR,/ AT R © |

B : T I, THA T |

T Teer, g 2 |

IS ¥l TS, HPS e ¢ |
Conclusion: | &V Qe UeR? |

BI3 W T, TR T8 2 |
lIl. DTS IeR, s el T |
(1) Fsm 11 31R 111 S SRR R & |
(2) Baet FIspY 111 SITART Bl & |
(3) s | iR 111 ST TR e B |
(4) e | 31R 11 ST STERT R & |
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CLASS-X

CODE : 2510

PHYSICS (SECTION-C)

The gravitational force between two bodies is F.
If the distance is halved and mass of each body is
doubled, the new gravitational force is :

MF (2) 2F

(3) 8F (4) 16F

The escape velocity from the earth is 11.2 km/sec.
The mass of another planet is 100 times of mass of
earth and its radius is 4 times of radius of earth.
The escape velocity for the planet is :

(1) 56 km/sec (2) 280 km/sec

(3) 12 km/sec (4)N.2 km/sec

A point object O is placed midway between on
the common axis of two concave mirrors of equal
focal length. If the final image is formed at the
position of the object, the separation between

tWO MIrrors is ... (Focal length of mirrors is f).
(5N
\ O N / Avis
(M f (2) 2f
1
@ 5f @) Sf

a.

42,

43,

&l fUvs] & §ra YTyl 9 F 8 | i 57 ard dl
X1 DI T TAT YD 7S BT G971 AT BR

&= ST & 1 =T Yyl 9 € —
MmF (2) 2F
(3) 8F (4) 16F

gl e A U 99 1.2 km/sec © | U 319 U8
fSTIe®1 G godl 91 100 I[A1 den 31 gl | 4

AT 8 99 U8 A AT 97 81 —
(1) 56 km/sec (2) 280 km/sec
(3) N2 km/sec (4)N.2km/sec

Teh geg O &I T B g3l dTel 3addl guvll &l
A R A fIvg R RETER @ g | af ifm
yfafers aeg @1 Refd & g7a1 & &1 <1 gUll & 7e
@1 R0 BN — (YOI DI HIvd 1 f 2)

o | ™=
AN
) f ) 2f
3 1
3) Ef (4) Ef
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44. Match the corresponding entries of column-I with
column-Il. (Where m is the magnification

produced by the mirror).

Column-I
(A)m=-2

1
(D) m=+2

(1) A-QandR,
C-PandQ,
(2 A-PandSs,
C-Qands,
(3) A-Rands,
C-QandR,
(4) A-QandR,
C-Qands,

45.  An equiconvex lens of focal length 15 cm is cut | 45.
into two halves as shown in figure. Focal length of

Column-II
(P) Convex mirror

(Q) Concave mirror

(R) Realimage

(S) Virtual image

B-Pands,
D-RandS
B-QandR,
D-QandR
B-Qands,
D-PandS
B-QandR,
D-PandS

each part -
(1) -30cm
(3) +30cm

Principle
axis

(2)-20cm
(4) +15cm

CLASS-X

3raE 8)

-
(A)m=-2

1
(B) m =—E

O m=+2

1
(D) m =t

(1) A-QTaR,

C-PaAATQ,
() A-Paers,
C-Qaerns,
(3) A-RTerS,
C-Q@MR,

(4) A - Q@enR,

C-Qers,

44, ﬁm—laﬁm—llaﬁgﬁ%ﬁaﬁm G!%Tmfrﬂmgm

-1l
(P) It gUT

(Q) 3radet T
(R) Ir<ifa® ufafaw

(S) IRl ufafee

B-Paers,
D-RTS
B-QderR,
D - Q@R
B-Qders,
D-PaerS
B- Q@lR,
D-PdsS

T 15 cm HI6w g1 1ol SHATTA oi¥ ®I AR

S YR H BICT ST & | T A1 DI Bl g3 gl

(1)-30cm
(3) +30cm

\‘\N—-._._.,_.—-ﬂ"/

Principle
axis

(2) -20cm
(4)+15cm
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46. Light ray travels from air to glass and air to water, | 46. 2= (i) @ (ii) # Uebre1 feh=o1 IR 4 il 21 arg | ureil
as shown in figure (i) and (ii) respectively. What is H HHY: Ud Bl 8 | o (i) @ o sruads dron
refraction angle for figure (iii) ? g ?

35° Air 359, Air
Glass 60° 0/ Glass Glass 60° 9/ Glass
Air S Air S
60 Water |45¢ 459  Water 60 Water |[g5° 459  Water
@) (b) (© (@) (b) (©
(1) 30° (2) 35° (1) 30° (2) 35°
(3) 60° (4) 41° (3) 60° (4) 41°
47.  Which of these colours is least scattered by dust, | 47. 7 A &I 91 T ¢d, BT, U A FIH HH Tai{ord
fog, smoke ? gIar g ?
(1) Yellow (2) Red (1) drer (2) e
(3) Blue (4) Violetn (3) e (4) S
48. A man with hypermetropia cannot see objects | 48. ETSURHZINIAT | UITST AT 3@ H 40 cm &1 30 A

close than a distance of 40 cm from the eye. The
power of lens required so that he can see objects
at 25 cm from the eyeis :

(1) 4.0D (2) 45D

(3) 1.5D (4) 3D

fHiehe @1 avg el 4 FahdT | 3T A 25 cm B T TR
Rerd a¥3i] 1 a@ & oY Tavde ¥ &1 & & -

(2) 45D
(4) 3D

(1) 4.0D
(3) 1.5D

Y% P13 ® 177 STT8 / Space for Rough Work
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49. Work done against gravity in moving 100 kg mass | 49. 100 kg &&4T gTell g% @1 100 cm Wﬁ BN ?%?IFI 2

CLASS-X

at height 100 cm in just 2 seconds : DS # o O R Tcd & fa<eg fham 11 BRI 81T -
(1) 9800 J (2) 98 J (1) 9800 J (2) 98 J
(3) 980 J (4)9.8 (3) 980 J (4) 9.8
50. Which of the following graph is correct for change | 50. =1 & & @1 A% Tfost St (E), Rerfarst 3wt (U)
in kinetic energy (E), potential energy (U) with H Aag A U @ SHarg (H) & A1l gRad & del
height (H) of a particle from ground: T HRAT & -
A U A U
(1) E E ; M
H >H
F E Fi\ E
(2) EE )
YsH YsH
N U A U
3) @)
H H
M E M E
4) >_< 4
H H

V% B P [o17 O /" Space for Rough Work
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CHEMISTRY (SECTION-D)

51.  Select the oxidising agent for the following | 51. f=faRaq sifafen @ forg sifRftare &1 ga+ o
reaction:
HS+L,——>2HI+S HS+1,——> 2HI+ 5
m (QHS M1, (2) H,S
(3) HI (4)s (3) HI 4)s
52.  Which of the following is a displacement reaction? | 52. fr=feiRaa # & @9 4t fazemu= ufafsar 2 2
(1) MgCO, — MgO + CO, (1) MgCO,; — MgO + CO,
(2) 2Na +2H,0 — 2NaOH + H, (2) 2Na + 2H,0 — 2NaOH + H,
(3) 2H,+0, > 2H,0 (3) 2H, + 0, - 2H,0
(4) 2Pb(NO,), — % 52PbO +4NO, +O, (4) 2Pb(NO, ), —% 52Pb0 +4NO, + O,
53. Brineisan 53, HIgA®
(1) aqueous solution of sodium hydroxide (1) AT 6|:§§TW|:§6 CREIPAGRDE]
(2) aqueous solution of sodium carbonate (2) AfSTH Bratve @1 STl faer
(3) aqueous solution of sodium chloride (3) AIfSTH FARTES F1 STl [Jera
(4) aqueous solution of sodium bicarbonate (4) eI IEHET BT Seira fIera

YE Pref B [ory oiTE /" Space for Rough Work
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s

54.  Which of the following statements is correct about | 54. 3771 3R &R & STeild T?IFRFI?E IR ff ﬁﬁﬂ%ﬂ%m R
an aqueous solution of an acid and of a base? DI AT BT TN 8 ?
(i) Higher the pH, stronger the acid (i) pH T a1feres 81T, et ST Udel g1
(i) Higher the pH, weaker the acid (i) pH f7a=T siferep &1, 317el ST €1 galel BT
(iii) Lower the pH, stronger the base (iii) pH ¥ 81T, &R Udol 81T
(iv) Lower the pH, weaker the base (iv) pH FTe=1 &9 BIRT, &R a1 &1 gaol 81T
(1) (i) and (iii) (2) (ii) and (iii) () (i) 3R (i) (2) (i) 3 (iii)
(3) (i) and (iv) (4) (ii) and (iv) (3) (i) 3 (iv) (4) (i) 3 (iv)

55.  What happens when a solution of an acid is mixed | 55. STd U UR&@cil H 317l & Oldl DI &R & blel H HeIr
with a solution of a base in a test tube? ST & a1 T B ® ?
(i) Temperature of the solution decreases (i) ferad &1 ITIH= 81 STl ©
(il) Temperature of the solution increases (i) faerr= &1 qmosT 9¢ SITeT ©
(iii) Temperature of the solution remains the same (i) faera= &1 qmUEE A B @
(iv) Salt formation takes place (iv) 1@t &1 i grar @
(1) (i) and (iv) (2) (i) and (iii) (M (i) 3R (iv) (2) (i) 3iR (iii)
(3) (i) only (4) (ii) and (iv) (3) ®ad (ii) (4) (i) 3 (iv)

Y% P12 P [o77 S8/ Space for Rough Work
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The apparatus given in the adjoining figure was | 56.
set up to demonstrate electrical conductivity.

6 volt battery ———» HH (*)4— Bulb

-1— Switch

? Beaker
—

Dilute NaOH
solution
Rubber cork

Which of the following statement(s) is (are)

correct?

(i) Bulb will not glow because electrolyte is not
acidic.

(if) Bulb will glow because NaOH is a strong base
and furnishes ions for conduction.

(iii)Bulb will not glow because circuit is
incomplete.

(iv) Bulb will not glow because it depends upon
the type of electrolytic solution.

(1) (i) and (iii) (2) (i) and (iv)

(3) (ii) only (4) (iv) only

CODE : 2510

et st | & a1 SueR vl faegd Arereha uefRid

PR D foru Tefud foar = o |
6 volt battery ———» l {')4— Bulb
|-||-| 4— Switch

Beaker
Dilute NaOH
solution
Rubber cork

ferferRad & 9 o1 91 B T8l & ?

(i) S THHI TEl RSP SATSIATST el TEl 8 |

(i) 99 THBT RifH NaOH TP Udd &R 8 3fiR
HATA @ foTg S+ UaT &oval 2 |
(iii)) AT SILRT B B BRI 7S] STl |

(iv) I8 THDH TS i T8 SATL IS CH B B
TR R AR sRar 2 |

(1) (i) 3T (i) (2) (ii) 3R (iv)

(3) B (i) (4) Bad (iv)

Y% B P o1y W8 / Space for Rough Work
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57.

58,

59.

60.

The mass number of atom is equal to total number

of:

(1) Protons and neutrons

(2) Protons and electrons

(3) Neutrons and electrons

(4) Electrons only

Which subatomic particle has negligible mass?

(1) Proton (2) Electron

(3) Neutron (4) Nucleus

What is the significance of the atomic number of

an element?

(1) It represents the number of protons in the
nucleus of an atom.

(2) It indicates the number of electrons in the
outermost shell of an atom.

(3) It determines the mass of the atom.

(4) It reflects the number of neutrons in the
nucleus.

Which of the following statements about isotopes

is true?

(1) Isotopes have the same number of protons but
different numbers of neutrons.

(2) Isotopes have the same number of neutrons
but different numbers of protons.

(3) Isotopes have the same number of protons and
neutrons.

(4) Isotopes have different numbers of protons
and electrons.

CLASS-X

57.

58.

59.

60.

URHTY] 6] STHT AT ol AT a% ENER %‘ :

(1) Wt 3iR =ggiA

(2) WIET &R gerag =

(3) IS 3R geIag

(4) D eI

foha SUIRATa® 61 BT TEHE 0 § ?
(1) 9rers (2) gerEST=

(3) =g (4) I

fah=f) Tca & URHTY] e DT FIT AR © ?

(1) = URATY] & G | WIS o T B ST 2 |

(2) TB URATY] & He qTEY DI H geldg il Bl Gl
BT ST B 2 |

(3) TE =AY B TeA ReiRa aar 2 |

(4) TE TS F IS &) T I AR |

JTged & aR H fA=ferRad # 9 oI 1 ®d I

g 7?

(1) 3MSATCIY H WS & A& F9F Bl © elfhd
IS @ T = Bl € |

(2) MSHICIY F RIS B T GAM BIell & elfe
e @) G A= g B |

(3) MMSHICIY H YIS 3R RIS B H=A1 FHH eIl
=

(4) argAICIiu # YICiF 3R gAagial &1 F&al
3TATT—3TeTT Bl 2 |
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BIOLOGY (SECTION-E)

61 Organism capable of using CO, as principle carbon | 61 Sild Sl UeTM BIe & I & ®U § CO, BT STAN
source are called ? PR ¥ e 2, PEAR © ?
(1) Autotrophs (1) TgIaTY
(2) Heterotrophs (2) foswar)
(3) Parasites (3) Ui
(4) Decomposers (4) qgc®
62. During the deficiency of oxygen in tissues of | 62. FI= & Jcehi H RIS DI BHHI B UR UTHAC DI
human beings pyruvate is converted into lactic Afded arvd § yRad= fhdd e gar g ?
acid in -
(1) Cytoplasm (1) PIRTDT T
(2) Chloroplast (2) FARTERE
(3) Mitochondria (3) ATSCIifRgan
(4) Nucleus (8) =D
63. Microscopic examination of a blood smearreveals | 63. Y& SRR @I Geweell Sid & &8 Hdd TR
an abnormal increase in the number of granular HT0T HIRTBIS &1 T H IRATAT gl BT Il Ferall
cells with multiple nuclear lobes. Which one of ¢ | FreaferRad 9 9 ford IR gorR @ et 7 i
the following cell type has increased in number ? '§','5‘ g7
(1) Lymphocytes (1) fermrarged
(2) Monocytes (2) ArFATESH
(3) Neutrophils (3) =Igifthat
(4) Thrombocytes (4) gr<ETSTH
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64.

65.

66.

67.

The growth of a pollen tube towards the ovule
caused by a sugary substance as stimulus is an
example of -

(1) Phototropism  (2) Geotropism

(3) Hydrotropism  (4) Chemotropism

Which part of the brain is responsible for
thermoregulation ?

(1) Cerebellum

(2) Medulla oblongata

(3) Hypothalamus

(4) Cerebrum

Which one among the following hormone
stimulates the plant cells to grow in a manner such
that the plant appears to be bent towards light?
(1) Cytokinin

(2) Auxin

(3) Gibberellin

(4) Abscisic acid

Which of the following structure is not found in a
prokaryotic cell ?

(1) Mesosome

(2) Plasma membrane

(3) Nuclear envelope

(4) Ribosome

CLASS-X

64.

65.

66.

67.

CLC
|tecnd=

éﬁmi@aﬁaﬁ?wwmﬁaﬁq%mgﬂﬂwﬁ%
SR BNl B, I8 FEIU SETER0 ¢ ?

(1) TeTegac (2) TH@TaH

(3) ST gac (4) AR

TR BT DI AT HI ATTHH =01 & forg STRari
g7

(1) srgafeTe

(2) Frgat sifeatrirer

(3) ETSUAHN

(4) yaRass

FefoRaa § & oI A1 HI Ulhl 1 BRSSPI
S UHR 984 B fo1g ITa dval & fob diem gapren ol
37IR S[ehT §aTT UiId BIaT & ?

(1) ArgeTBIgA

(2) siffaRT=

3) Rrerfer

(8) Ufsafis srd

fA=ferRad § 9 o9 W a1 uTdhdh ol DIfRra d
EERIDIRSIG R

(1) FETHT

(2) TS f3reett

(3) H=h JTART

(4) JrgarAH
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68. Which one of the following is a semi-autonomous

69.

70.

organelle ?

(1) Mitochondria

(2) Ribosome

(3) Lysosome

(4) Mesosome

Which of the following is not a connective tissue
?

(1) Adipose tissue
(2) Cartilage
(3) Neuroglia

(4) Blood

Which of the following is made up of dead cells ?
(1) Collenchyma

(2) Cork

(3) Phloem parenchyma

(4) Xylem parenchyma

CLC das CLASS-X

68.
69.

70.

CODE : 2510
fer=forRad & | oI A1 U sl SIfde g ?
OEISEIRSR
(2) RrsdTEH
(3) wrgTE
(8) F=THTT
f=forRad # & @9 Gl Sas 781 g ?
VELIESEY
(2) SuRer
(B)Hﬁ'cb‘lﬂﬂ
(4) X
frferRad # & B9 7d S &1 991 g ? ?
(ORSSERMINED
(2) diD

(3) FATTH UR=DIgHI
(4) ST IR=pTSHT

Y &1 @ [o17 OT7T8 / Space for Rough Work
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